Tabulka ref. bodu, vysledky hladiny hluku LAeq (dB) a hodnoceni zmén
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1|Synkov-Slemeno, ¢,p, 3 obé 11/318 3 40,7 32,7 42.0 34,7 46,2 38,8 - - | 60| 50|ano |ano |ano |- - - - - -
2|Synkov-Slemeno, ¢,p, 3 prelozka 11/318 |3 29,5 21,5 30,8 23,5 47.0 39,5 - - | 60| 50|ano |ano |ano |- - - - - -
3|Synkov-Slemeno, ¢,p, 3 stara 11/318 3 43,8 35,7 451 37,8 42.0 34,3 - - | 60| 50|ano |ano |ano |- - - - - -
4[Synkov-Slemeno, ¢,p, 3 stara 11/318 3 59,7 51,6 61,3 53,8 49,2 39,7 64,4 56,8 60 50|NE |NE |ano |NE +4,7 45,2 +3,1 +3,0|NEvyhovi, zhorseni
5|Synkov-Slemeno, p,¢, 59 stara 11/318 3 63,3 55,2 64,9 57,5 53,1 43,7 68,1 60,4 60 50|NE |NE |ano |NE +4,8 45,2 43,2 +2,9|NEvyhovi, zhorseni
6|Synkov-Slemeno, ¢,p, 51 mistni kom, 3 25,7 8,4 28,8 10,3 454 37,0 - - | 60| 50|ano |ano |ano |- - - - - -
7|Synkov-Slemeno, ¢,p, 51 prelozka 11/318 |3 36,1 17,1 39,2 19,2 50,7 38,8 - - | 60| 50|ano |ano |ano |- - - - - -
7|Synkov-Slemeno, ¢,p, 51 preloZzka 11/318 |6 36,6 20,8 39,5 22,9 51,2 39,8 - - | 60| 50|ano |ano |ano |- - - - - -
8|Synkov-Slemeno, ¢,p, 12 stara 11/318 3 61,9 53,7 63,2 55,9 50,8 41,1 65,1 56,9 60 50|NE |NE |ano |NE +3,2 43,2 +1,9 +1,0|NEvyhovi, zhorseni
9|Synkov-Slemeno, ¢,p, 12 stara 11/318 3 61,6 53,5 63,0 55,6 50,6 40,8 66,0 57,8 60 50|NE |NE |ano |NE +4,4 +4,3 +3,0 +2,2|NEvyhovi, zhorseni
10[Synkov-Slemeno, ¢,p, 47 stara 11/318 3 61,4 53,3 62,8 55,4 50,7 41,1 65,2 57,0 60 50|NE |NE |ano |NE +3,8 +3,7 +2,4 +1,6|/NEvyhovi, zhorseni
11[Synkov-Slemeno, ¢,p, 47 stara 11/318 3 53,7 45,6 55,1 47,7 43,9 35,0 57,5 49,3 60| 50|ano |ano |ano [ano +3,8 +3,7 +2,4 +1,6|vyhovi
12[Synkov-Slemeno, ¢,p, 45 stara 11/318 3 46,5 38,3 47.8 40,5 40,1 32,2 50,5 42,3 60| 50|ano |ano |ano [ano +4,0 +4,0 +2,7 +1,8|vyhovi
13|Castolovice, Komenského &,p, 307 stara 11/318 3 61,0 48,4 63,1 55,3 58,5 50,6 60,3 52,3 60 50|NE |NE |NE [NE -0,7 +3,9 -2,8 -3,0|NEvyhovi, zlepseni
14|Castolovice, Komenského &,p, 60 stara 11/318 3 67,8 55,2 69,9 62,1 65,3 57,4 67,1 59,0 60 50|NE |NE |NE [NE -0,7 +3,8 -2,8 -3,1|NEvyhovi, zlepseni
14|Castolovice, Komenského &,p, 60 stara 11/318 6 66,9 54,4 69,0 61,2 64,4 56,5 66,3 58,2 60 50|NE |NE |NE [NE -0,6 +3,8 -2,7 -3,0|NEvyhovi, zlepseni
15(Kostelec n/O,, Komenského ¢&,p, 1420 prelozka 11/318 |3 - - - - 41,8 34,7 36,3 29,5 60( 50|ano |ano |ano |ano +36,3 +29,5 +36,3 +29,5|vyhovi
16|Kostelec n/O,, Komenského ¢,p, 1071 prelozka 11/318 |3 - - - - 40,6 33,4 35,0 28,1 60( 50|ano |ano |ano |ano +35,0 +28,1 +35,0 +28,1|vyhovi
17|Rychnov n/K, Zbuzany ¢,p,557 stara 11/318 3 57,7 49,6 59,1 51,7 47,6 36,9 61,3 53,8 60 50|ano |[NE |ano |NE 43,6 +4,2 +2,2 +2,1|NEvyhovi, zhorseni




